Multiply and Divide by 10, 100 and 1000 - Review

Exercise A
1.2x10-=
2.230x10 =
3.19 x 100 =
4.12 x 1000 =

Exercise C

1. 75x10 =
2.2.34 x10 =
3.0.34x10 =
4.0.002 x 10 =

Exercise E
1.1.237 x 100 =
2.2.134 x 100 =
3.34 x 100 =
4.23x100 =

Exercise G
1.16.4 - 100 =
2.917 = 100 =
3.6527.7 - 100 =
4.9.8 100 =

Exercise I
1.002+10=
3.0.9+100 =

Exercise B j%’

1.120+10 =
2.2500 +10 =
3.2700 + 100 =
4. 3000 =+ 1000 =

Exercise D
1.82+10=
2.2.34+10=
3.7+ 10 =
4.8-+10=

Exercise F
1.1.237 x 1000 =
2.2.137 x 1000 =
3. 3.100 x 1000 =
4.2.74 x 1000 =

Exercise H
1.132 = 1000 =
2.713 +1000 =
3.673.4 -1000 =
4.455 + 1000 =

2.0.006 +10 =
4.1-+1000 =

© Brain-Cells: E.Resources Ltd




Multiply and Divide by 10, 100 and 1000 - Review

Exercise A
1.2x10=20

2.230 x10=2300
3.19 x 100 = 1900
4.12 x 1000 = 12000

Exercise C
1.75x10=75
2.234x10=234
3.034x10=34
4.0.002 x10=0.02

Exercise E

1.1.237 x 100 = 123.7
2.2.134 x 100 = 213.4
3.34 x 100 = 3400
4.2.3 x100 =230

Exercise G

1.16.4 - 100 = 0.164
2.917 + 100 = 9.17
3.6527.7 - 100 = 65.27
4.9.8 +100=0.098

Exercise I
1.0.02+10=0.002
3.09+100 =0.009

Exercise B j%’
1.120+10=12

2.2500 + 10 = 250
3.2700 + 100 = 27

4. 3000+1000=3

Exercise D
1.8.2+10=0.82
2.2.34+-10=0.234
3.7+ 10=07
4.8+10=0.38

Exercise F

1.1.237 x 1000 = 1237
2.2.137 x 1000 = 2137
3. 3.100 x 1000 = 3100
4.2.74 x 1000 = 2740

Exercise H

1.132 + 1000 = 0.132
2.713 +1000 =0.713
3.673.4+1000=0.6734
4.455 + 1000 = 0. 0455

2.0.006 + 10 = 0.0006
4.1+1000 =0.001
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